
Exercise 1 Calc. : ✗
The following histogram represents the height of the plants of the new garden.

1. 2 marksFill in the table below using the data from the histogram.

height (cm)
frequency

2. 2 marksDetermine the number of plants.

3. 2 marksDetermine the mode.

4. 2 marksDetermine the mean.

5. 2 marksDetermine the median.

Exercise 2 Calc. : ✗
Il seguente istogramma rappresenta le altezze delle piante del nuovo giardino.

1. 2 marksRiempi la seguente tabella con i dati raccolti dall’istogramma.

altezza (cm)
frequenza

2. 2 marksDetermina il numero di piante.

3. 2 marksDetermina la moda.

4. 2 marksDetermina la media.

5. 2 marksDetermina la mediana.


